O\GKHHIl

GIUHHI $0 7US $0 6IRS $0 6IRS 7LPH |30 7US 30 6IRS 30 6IRS 7IPH
57 67 *0 %5,"*( $7 1)$ - (67 30 | UG 6/ BQGHIKIN 3! $0 [0 %5,"*( $7 1)$ - (6730 | UG 6l 8QGHKW 30 30
%$/6$0 /1 *0 %5,"*( $7 1)$ - (67 $O |%DIVDP /Q OHDGRZ +1)) 56 $O0  |[~O0 %5,"*( $7 1)$ - (67 30 |%DVDP /Q OHDGRZ +lil 56 30
%52%" - $< *0 %5,"*( $7 1)$ - (67 B3O |%RDGZD\ _ 1RIN 3) $0  |[*O0%5,"*( $7 1)$ - (67 30 |%RDGZD\ 1Rl 30 30
%52%" - $< *0 %5,"*( $7 1)$ - (67 $O__|%RDGZD\ _ 6 OWHI 61 $0  |[*O %5,"*( $7 1)$ - (67 30 |%RDGZD\ 6 OLIHJ 61 30
%86+ $9( *0 %5,"*( $7 1)$ - (67 3O | IXIHURQ $YH _ 1RUIRQ 6l $O0  |[*O %5,"*( $7 1)$ - (67 30 |DXIHIRQ $YH _1RUIRQ 6/ 30
&$57(5 67 *0%5,"*( $7 1)$ - (67 $O |&DUHI 6/ 1 SREIQVRQ $YH $0  |[*O0 %5,"*( $7 1)$ - (67 30 |&DUIHI 6/ 1 SRELQVRQ $YH 30
“8%2,6 67 *0 %5,"*( $7 1)$ - (6790 | UG 6/ "XERV 6l $O0  |[*O%5,"*( $7 1)$ - (6730 | U6l "XERV6I 30
Y256<7+( 3/ *0 %5,"*( $7 1)$ - (67 $O_|%RDG 6/ )RW\IKH 30 $0  |*O0 %5,"*( $7 1)$ - (67 30 |%JRDG 6/ )RI\IKH 30 30
*8(516(< "5 *0 %5,"*( $7 1)$ - (67 B0 |%XIMHI +10 " *XHUQVH\ " U $O  [*O %5,"*( $7 1)$ - (67 30 |%XIWHI +10 U *XHUQVH\ " U 30
—2+1 67 *0 %5, *( $7 1)$ - (67 $0 —2+167 $0  [*O%5,"*( $7 1% - (67 30 —2+1 67 30
/$85,(/1 *0 %5,"*( $7 1)$ - (67 $O_|/DXUH/Q 5RXIH $O0  |[*O%5,"*( $7 1)$ - (6730 |/DXUH/Q 5RXIH 30
08//,16 /1 *0 %5,"*( $7 1)$ - (67 $0_|=DVK5G__OXNQV /Q $0  |[*O0 %5,"*( $7 1)$ - (6730 |-DVK5G _OXIQV /Q 30
10,//(5 67 *0 %5,"*( $7 1)$ - (67 $O_ |1 OWIHI 6/ 6RXIK 61 $O0 |0 %5,"*( $7 1)$ - (6730 |1 OWHI 6/ 6RXIK 6l 30
3$/$17,1( $9( *0 %5, *( $7 1)$ - (67 $O |+DZIKRIQH $YH  9DQ &IHIl $YH $O  |*O %5,"*( $7 1)$ - (67 30 |+DZIKRIQH $YH 9DQ &IHII $YH 30
6 -.//.%0 67 *0 %5,"*( $7 1)$ - (67 30 |6 /DQGHI 6/ 6 - LIDP 6l $0  |*O0 %5,"*( $7 1)$ - (6730 |6 /DQGHI 6l 6 = lIIDP 6l 30
6$5% /1 *0 %5, *( $7 1)$ - (67 $0 |6DID/Q = OHDGRZ = [QG /Q $O  |*O0 %5,"*( $7 1)$ - (6730 |6DID/Q - OHDGRZ - QG /Q 30
61$.(+//5" *0 %5,"*( $7 1)$ - (67 B3O | ZIQGVRI +Z\ _ 6QDNH +Iil 56 $0  |[*O %5,"*( $7 1)$ - (67 30 | =IQGVRI +Z\ _ 6QDNH +1) 56 30
-$/6+ 5" >0 %5,"*( $7 1)$ - (6730 |"[FN\VRQ 6l = DIVK 56 $O  |~O0 %5,"*( $7 1)$ - (6730 |"IFN\VRQ 6l - DIVK 56 30

3DJH




